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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

la 714 13 3.2 20 65.2 99.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


SECTION A
Answer Question 1 and either Question 2 or Question 3.

You will need the Resource Folder to answer Question 1.

Development in the Kingdom of Bhutan
You should spend approximately 1 hour 50 minutes on this question.

You are advised to spend 15 — 20 minutes reading the Resource Folder.
Use the Resource Folder and your own knowledge and understanding to answer this question.

(b) Suggest ways in which the Gross National Happiness vision can contribute to government
policies for development in Bhutan. [20]

© WJEC CBAC Ltd. (1393-01)



The %CM&HTEW'- N Bhukan hOseS  Lbs dwﬁ,lmm\ewl ourounG

e  Gars  Nabono) HQ{}{L{J}ESS G’Ml whieh  doesn‘c

denen® N the  econpowie  pwepdlh oo uison oo
OUAY o0 frewe W’)@ GNH % bmkm

down g g ndieaken  wiweh  te  esulla o oM

ponlhitle o muw ydevebopment iy Rhwdkeun

To \12%“‘ wilh ﬂ,uml @v@a%ﬁ Moppness i Lo
A W 15 W then nahbhw AND Lu-ho,n

o louge (yerD‘l‘tiOhﬁUqﬁ
tr-?/ Wwﬁ Uhmgmwhax\wﬁaﬁmsm

cg;mU\owaa} MOETUY low  hoppuness el of




Question

number

B worer g ol oses al 4 seore o |3/, chmpue

e i)\eu Q% n wrhon  anedS. This may e down (o

youung oople  who  leowe  bheur poymilid jn  nuic! arecs

o mere oppertinilies, Fise be yock lhed o bhomb atbact

TS o uThon ek eluns b wgl‘udojuwa
At 5 ok ¥k o, e estitaumist  orltes W.,M

o gt o CCTV comrens or te  employnent o soeuuily

W,*WW Um,dd help  Qhlan e develop af ol

codiono)  componist Moy pelotale b the ared g ik

Leave

Blank




Question L eave
number Blank

gonbiaak mlifwwg*‘ the bowstive  ound Uhgrostucling g rhan

arehy  vpdh  umpowng Wk ik pole  pub o onOele ond

Wiwhfs  che o e MEDW op 8 abl (e i h3land

o cumove  andd pow MWW agm‘bw

Y NYTUM WUU’\ [’ oneck LocU pundt mﬂdw@m%




The ch\re/ﬂTU\»l N Bhiukon  oses s dweicwn\m/t cuownd

bhe Gms Nobonat  Happiness [GRH) whieh dotsn’c

deoen®  @n (he eonemwe _weolth o a p@@m/mwmd

mw\f% o ey WWW%C}NHM hmkm@]

L. ge  a ndicaten  whuch e esull o _con

endile fp  policlor o dwelopmont iy Qhudoun [

To \ﬁmﬁ wilh by uml auerBge }v?mnu%ﬁ i (v

o @dumlw‘p% Lawru\enl}mnahmwdm@w‘rm/

Mr‘ﬂuﬂ sudocsls  thol o leuige Moﬁm%dcuq

&7 Wt apl.ud,f( orP wum n urhmfuw(msm

ormU\omfa}anMTmmWWlwel&m



Sticky Note
This is not quite the right interpretation here.

Sticky Note
Good. Understands difference between GNH and other indices.

Sticky Note
Good sign. Using resources
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Sticky Note
Another explicit idea with some reference to policy based on evidence from resources. The final comment is a little questionable, but the candidate is applying their understanding.

Sticky Note
This is a valid and developed comment. It stems from the evidence in the resources booklet and offers an explicit idea about contributing to government policy.		
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Sticky Note
Overall this answer has used some evidence; there are some links to policy though they are weakly developed. This is a L4 answer with valid suggestions supported by some evidence. 14 marks.

Sticky Note
Good use of the resource to draw out detail such as quality of housing. A little thin on how this links to government policy. A distinctly dubious final comment laying blame on foreign firms!
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Sticky Note
Repetition here.

Sticky Note
OK. Uses data here, but its purpose is not entirely clear.

Sticky Note
There are explicit references to specific policies here. Clear understanding of how GNH could be used.

Sticky Note
The candidate has built up a knowledge of Bhutan from question 1a and is now understanding how GNH could be used.

Sticky Note
Good introduction. The resources are used and the candidate clearly understands the context of an alternative view of development.
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Sticky Note
This answer makes some valid and explicit suggestions linked to government policies. They are well supported with evidence and there is explanation as well as description. Knowledge and understanding are used accurately to answer the question as set. It drifted a little and could have included a few more ideas for full marks, but this is a concise, fluent and well written answer. 
Level 5 17 marks. 

Sticky Note
Well supported point about political development here, using evidence from the resources.

Sticky Note
There is good detail used here to suggest  several ways in which the government could use GNH. Comments are developed to  make a clear link to development.
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Sticky Note
There is some sense of the usefulness of GNH here but again there is no evidence from the resources. The comment is very general. Given that the question asks about Bhutan, the link to the Three Gorges is not relevant here. 

Sticky Note
Are there tensions between rural and urban? if so, what evidence from the resources? What specific policies does the student have in mind here?

Sticky Note
Yes - the right idea - but the government did not 'create the table'...

Sticky Note
What does this mean? Which resources? What targets?

Sticky Note
Has some link to the question here but again, rather 'black and white'.  Using GNH would not necessarily lead to clear and concise decisions and policies. 

Sticky Note
This  reflects a very simplistic understanding of indices. 
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Sticky Note
This is a very general answer with a few hints at how GNH may be used by the government. There are very weak links to government policies and no detail from the resource booklet. This answer just nudges into Level 3. 

Sticky Note
This point needs stronger explanation. Why do women need a purpose to vote?  What about men?


SECTION A
Answer Question 1 and either Question 2 or Question 3.

You will need the Resource Folder to answer Question 1.

Theme 3: Perspectives of Development

You are advised to spend approximately 35 minutes answering either question 2 or question 3.

2. Explain how ideas about development have changed over time. [20]

© WJEC CBAC Ltd. (1393-01)
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Sticky Note
Brief summary of Rostow but needed to go just that bit further and link this instability to a change in ideas about development.

Sticky Note
Yes - on track here.

Sticky Note
This introduction is  not wrong, but it is not signaling that the candidate has recognised the question i.e. change through time. These are two valid approaches to development but they are unlikely to offer a useful route through the question set.
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Sticky Note
Rather a jumbled time scale here but the underpinning understanding is correct.

Sticky Note
This section on Akosombo refers to the wrong decade.

Sticky Note
OK. There is some sense of change of approach here. But the answer goes on to discusss SAPs. Thsi section was weak because it was not clear why and when SAPs were introduced in the first place.
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Sticky Note
Yes - good closing remarks brings the answer firmly back to the Q set.  More could have been made of sustainable development as a concept of its time, but this is a strong finish.


Sticky Note
The answer moves on here to describe a change in development focus and  the mechanism to deliver. Relevant idea and valid example below. There is a tendency to retreat into narrative in places, such as here
 on Kuapa Koako, but the candidate needs to be wary of losing sight of the question / time issues.
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Sticky Note
Accurate knowledge and understanding with relevant examples. Some explicit discussion of how ideas about development have moved on, although this could be more accurate. Therefore falls short of full marks. 
 L5. 18 marks.
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Sticky Note
This section describes some aspects of world trade but is more of an economic history, Which development concepts are being discussed here, and during which period of the 20th century?

Sticky Note
This is confused as well as having a vague sense of time.

Sticky Note
This section shows some understanding of Dependency Theory.

Sticky Note
The answer has omitted the post-war focus on economic development of the 1950s, and the concept of the 'Third World'.

Sticky Note
Industriallisation did not begin in the 20th century, not was this the time of the Industrial Revolution.

Sticky Note
What is meant by 'peripheral'?

Sticky Note
This is not an accurate statement, of the UK or other European countries.
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Sticky Note
This has offered more (rather inaccurate) economic history, rather than a discussion of ideas about development. There is a very weak grasp of the evolution of ideas over time. Only dependency is discussed in any detail.
Level 3 11 marks.

Sticky Note
OK. This section is valid, but how is this linked to ideas about development? Is this implying that economic development is the main focus of the last 20-30 years? 

Sticky Note
Confused time scale here too. Exploitation of the developing world was prevalent in  the 19th century too. 
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Sticky Note
There are some muddled statements so far. Economic growth does not necessarily mean foreign investments.

Sticky Note
This needs some explanation in order to be useful.

Sticky Note
What is modernisation?

Sticky Note
there is no logic to this statement. 
Quality of language here? 

Sticky Note
Moot point. Development did not begin with colonialism, although current development issues have some of their origins in that period.

Sticky Note
Do not write in the first person.

Sticky Note
OK. Introduction. But this is not a sentence and therefore does not make sense...
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Sticky Note
When did grassroots development emerge as an idea?

Sticky Note
What were the failures? 

Sticky Note
This is all very woolly.

Sticky Note
Suddenly structural adjustment appears without any explanation of its origins, time scale. This candidate has some sense of major development issues but they come across in a rather haphazard fashion here. 

Sticky Note
Broadly speaking yes, but what sort of development does this allude to?
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Sticky Note
Overall this answer shows some outline knowledge of different ideas about development. In places this lacked accuracy and conviction. There is a very weak sense of how the concepts have evolved over time. Much of the  detail  of the concepts was omitted. 

Sticky Note
This extra section offers some knowledge about San's Freedoms but does not add much to the actual question set. Once again, the element of time is missing.

Sticky Note
This conclusion is a rather rambling summary of social and economic development. It does not offer a sense of time.  is the sudden reference to education really necessary?

Sticky Note
Will it? Development is not now about one area or the other.

Sticky Note
OK. There is understanding here but a lack of sense of time.


SECTION B
Choose one Theme (4, 5 or 6) and answer one question only on your chosen theme.
You are advised to spend approximately 35 minutes answering this question.
You are reminded of the need to support your answers with evidence and / or examples where
appropriate.
Theme 4: Economic Development
Either,

4. Examine the impacts of foreign direct investment (FDI) on development in different countries.
[20]
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Sticky Note
Negative impact with accurate detail.

Sticky Note
The answers goes on to discuss a range of negative impacts. It would be better to have a paragraph break here.

Sticky Note
After a short, relevant introduction, the answer immediately begins with relevant example, and explicit impacts. This is developed - a link between paying tax andhow that tax could benefit. 
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Sticky Note
This is another rather general statement which has elements of truth but could be more nuanced in its comment. Links to development are there but rather implied.

Sticky Note
This is broadly accurate but the generalisations lead to a simplistic interpretation of impact.

Sticky Note
OK. This is good detail but is tending towards narrative of bad deeds. This is losing focus on development in India.
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Sticky Note
This is an unbalanced answer with one positive about job creation and thence a critical, biased narrative of firms. There are weak links to development. There is some accurate detail but insufficient comment linking impact with development.  A level 3 answer. 11 marks.

Sticky Note
This has become a narrative against Monsanto, with some valid evidence, but the answer is losing focus on the Q set - i.e. the impact on development.
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(b)

government policies for development in Bhutan.

Suggest ways in which the Gross National Happiness can contribute to

[20]

AOl1 11

AO2 5

AO3 4

Can make significant contribution
to health policy.

Improve quality of housing.
Recognise importance of personal
assets.

Improve governance as all policies
encourage participation and reflect
human rights.

Reinforce importance of culture
and traditions.

Improve transparency role of
institutions e.g. justice, finance.

Encourage government departments
to consider communities and
individuals as they plan for the future.

Highlights differences between rural
and urban areas and adapt

Interpretation of
text, diagrams
and data.

Communication
of findings.

Indicates that government need
not always be striving for economic

growth.

Indicates how rural people need
more investment in education and

standard of living.

Urban people need more focus on
culture, work-life balance and trust
in institutions e.g. governance

issues.

Increase the sustainability of

government policies.

government policies accordingly.
Highlights areas which lack
development and which need specific
support.

Suggests that many people are
satisfied as long as they have basic
needs met, friends, food and security.

A good, well-organised range of valid suggestions which are

Level 5 justified and supported with evidence from resources. Full and

17-20 marks accurate use of range of resources. Uses knowledge and
understanding accurately to interpret GNH. Makes explicit links to
government policies.

Level 4 Some valid suggestions supported by some evidence. Uses most

13-16 marks of the resources to identify some contributions but mainly implied
links to government policies.

Level 3 Describes the range of indicators but weak links to government

) policies.

9-12 marks Uses some detail from Resource Folder.

Level 2 Limited use of resources. Paraphrases from resources. Few links

5.8 marks recognised between GNH and government policies. Does not
develop ideas. Limited.

Level 1 - . .

1-4 marks Very superficial response. Lifts material from Resource Folder.

0 marks No creditable response.

© WJEC CBAC Ltd.
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Theme 3: Perspectives of Development

Candidates are advised to spend approximately 35 minutes answering this question,
Question 2 or Question 3.

EITHER,

Q.2 Explain how ideas about development have changed over time.
|AO1 14 [AO2 4 [AO3 2 | [20]

Responses should show:

¢ knowledge and understanding of change over time over several decades
particularly the post-war period onwards;

e an ability to explain and differentiate between the different development ideas;

e use of detailed evidence.

May include some or all of the following:

¢ Industrial Revolution associated development with economic growth

e Colonialism of 1920s = an ordered progress towards Western standards

e 1950s — ‘Development’ seen as a euphemism for US
hegemony / leadership / supremacy

e Development = modernity = industrialisation + urbanisation + increased use of
technology + progress towards democracy.

¢ Development = based on economic growth (GNP / capita), wealth creation.

¢ Classical development theories — Ricardo, Adam Smith.
Answers may mention Keynes Rostow, Myrdal

e Eurocentrism — source of all the major strategies for development

e Grassroots development 1980s — growing awareness that development theories
had not delivered success

¢ Change in direction to recognising variety of concepts of development, including
gender, environment and grassroots development

e 1990s Development = integration of social, economic and environmental
perspectives

¢ Development as entitlements (Amartya Sen) — to education, health, food, personal
security, decision-making

Accurate knowledge and understanding of development ideas and

Level 5 . LY .
clear explanation. Uses relevant examples. Explicit discussion of
17-20 marks . )
how ideas evolved over time.
Level 4 Begins to explain different ideas over time but unbalanced. More

13-16 marks implied than explicit references to change over time.

Describes different approaches to development but only general

Level 3 references to evolution of ideas. Some accurate detail, probably of

9-12 marks neoliberalism and grassroots ideas. May take a case study
approach linking development ideas to specific countries.

Level 2 Superficial knowledge of ideas about development. Brief

5-8 marks recognition of change over time.

Level 1 Very superficial response. May comment briefly on neo-liberal

1-4 marks development.

0 marks No creditable response.

14
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SECTION B

Theme 4: Economic Development

Candidates are advised to spend approximately 35 minutes answering this question.

They are reminded of the need to support their answers with evidence and/or examples where

EITHER,

appropriate.

Q.4 Examine the impacts of foreign direct investment (FDI) on development in
different countries.

| AO1

[20]
14 [AO2 4 |AO3 2 |

Responses should show:

knowledge and understanding of positive and negative impacts in different
countries;

an ability to examine the impact of FDI and link it to development;

use of detailed evidence.

May include some or all of the following:

Positive

Catalyst for further development / employment creation

¢ Also may require components factories / employment

¢ ‘Anchor’ for development in a local area

¢ Improvements in infrastructure

e Helps to support government of a young country

e Technology transfer

¢ Government income from taxes and royalties

e Provides employment and hence taxes from workforce

e Develops skills in the workforce

¢ Enables a country to join the global economy

¢ National status by attracting global brand names

o Develops need for service industries such as construction, food, cleaning

o May get spread effects within the area of influence of the FDI

Negative

e Dependency of local economy on foreign firms

¢ Dominance of foreign firms may lead to closure of local firms

¢ Rise in local wage rates

e Exploitation of labour

e Fewer environmental control / regulations

¢ Decisions made are not always in the best interests of the host / receiving
country

¢ Government partner funding may be diverted away from other government
projects

o Powerful political influence at local and national levels — corruption

e May undermine local culture

e Limited spread effects

e Focus only on economic development rather than social and political too

e Raises questions of political sovereignty

© WJEC CBAC Ltd.
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Accurate and relevant details of exemplars of FDI. Accurate
Level 5 . . g
17-20 knowlgdge and_ gnqlerstandlng of a range of impacts in different
countries. Explicit links to development in each country.
marks . " S
Recognises positive and negative impacts.
Level 4 Detailed and accurate knowledge of FDI in countries. Begins to
13-16 examine impacts of FDI but links to development more implied than
marks explicit. Some positive and negative impacts.
Describes FDI in different countries. Some accurate detail of
Level 3 . :
9-12 impacts bqt poor links to devg_lopment._ May tal§e a case stgdy
marks approach linking FDI to specific countries. Maximum level if only
one country given.
Level 2
5-8 Superficial knowledge of FDI in named countries.
marks
Level 1
1-4 Very superficial response.
marks
0 marks No creditable response.

© WJEC CBAC Ltd.

17






	2: 
	1b: 
	4: 


